} tev A% ¥ F;Lﬂ- ) f\ w———np - T dEeatws ™ s B
D .- o .01
01'1.1{.1»\ < “‘3“)‘*"‘“- you hlay one hand,and X = 11t § “dealt two red cards and X =0
2 -0.00 lt:)% | if you are dealt AK and Y =0 omerw g, What is cov(X.Y)?
.0.00128%. b.-0.00179%. ¢.0.00107%. f’n 00591% ¢. None of the above.
E. . 9.1f (X,)Y)are bi ar(X —-75 HEGY '
)~-: variate normal with Hx) — ...0 var(X) =23, B(Y) = 16. var(Y) =9, and p
,.,...( 5. what 18 th, distribution of \ ul\u\ X 307 .
a. N(22.3, ’»“)7 ). b. N(22.3, 45’) ). .N(l‘QO 260 ). d_N(\;?.(L?».S2 ). e.None of the above.
For the next three problems, suppose 4 face card 1S a jack, queen Of king. Let A = the event your
two hole cards are both face cards, and B = the e\{ent your two hole (,’ugls are both diamonds.
ﬁ 10. What i1s P(A Of By o i E./ \
Q- 10.6%. b. 11.3%. c. 12.9%. d. 14.1%. » None of the above.
e LR What is P(A and B)? {f:j
a.0.102%. b.0.193%. - 0204 %. ( 4.0226%. & None of the above.
‘\blf‘i
D 12. What is P(AIB)? S PUAD
a. 1.05% b.2.42%. c.2.67% d)3.85% > None of the above ""’“Q S
For the next twO problems suppose you afe playing 70 hands of T€Xas Holdem. Let X = the
qumber of times you set dealt AK out of youl first 10 hands, and Y =the qpumber of hands where
you get dealt at least Onc ~lub. out of hands 11 through 20. Let 7, = 4X + 2Y |
vor (x) * VS AR ara
C 13 Whatis E(Z)? an 0. \\ok
2.8.12 b. 8.33 (en.3! d.9.89. > None of the above
R | (D
X D 14 whatig Var(@) ‘
a. 5.9 (b.]7.95 c.11.8 d. 138 -~ None of the above
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None of the above.
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